Polish Club Chap 7  Slam Bidding

Chapter 7  Slam Bidding 

Apr. 1, 2022
RKC(Roman Keycard) 4N ask A: 1403

Ask A: (a) To RKC 4N (b) To Blackwood 4N, reply:
	5C (1st step)
	1 or 4 keycards
Reason: replying 5C with 1 keycard saves more space to further check for trump Q (bid 5D)

	5D (2nd step)
	0 or 3 keycards

	5H (3rd step)
	2 keycards without trump Q. (To BW) 2 Aces with Min

	5S (4th step)
	2 keycards with trump Q. (To BW) 2 Aces with Max

	5N(5th step)
	0, 2 or 4 keycards with one void suit. 

Reason: replying 5N (not 6B) with 2 keycards saves more space to further check for grand slam

	6B(6th step)
	1, 3 or 5 keycards with void B. If B=trump, then void is the   suit whose ranking is higher than B.


After answering # of aces:

(1) 5N: ask position of kings (not including trump K) for RKC; # of K for BW
Answer: 6B=one K in B, or two other K not in B (one or other two)
       6-trump= no K
(2) Relay 1 (higher ranking suit, not trump): ask trump Q (for not 2 keycards)

(3) Relay 2 (or relay 1 for not asking trump Q: ask Q or XX of the suit to 7-level
5N: Ask # of K for BW
	6C (1st step)
	0  K

	6D (2nd step)
	1  K

	6H (3rd step)
	2  K

	6S (4th step)
	3  K


Ask trump Q: relay higher ranking suit (not trump) 

	4N (ask A)
	
	

	
	5C/5D
	

	5D/5H
	
	Relay, ask trump Q. Bid next higher ranking suit 5H/5S if D/H is trump and you don’t want to be passed when 1 or 0 key.

	
	Trump
	No trump Q

	
	5N
	Trump Q, without other K

	
	Other suit
	Trump Q, with suit K


(1) If no trump Q, but we have 10 cards trump (64 or 55), then reply with trump Q.

(2) If trump is D/H and reply 5C/5D, and relay 5D/5H, then answer the situation of trump Q with 4/3 keycards and pass with 1/0 keycard.
For minors, agree at 4C/4D=RKC
	2C
	2D
	

	Any
	4C
	Bid 4C after forcing. RKC, trump=C

	4D
	
	1 or 4 keycards. Then relay 4H=ask trump Q; 4S=ask K

	4H
	
	0 or 3 keycards. Then relay 4S=ask trump Q; 4N=ask K

	4S
	
	2 keycards without trump Q. Then 4N=ask K

	4N
	
	2 keycards with trump Q. Then 5D=ask K

	5C
	
	0, 2 or 4 keycards with one void suit

	5B
	
	1, 3 or 5 keycards with void B


	1D
	2D
	

	Any
	4D
	Bid 4D after forcing.. RKC, trump=D

	4H
	
	1 or 4 keycards. Then relay 4S=ask trump Q; 4N=ask K

	4S
	
	0 or 3 keycards. Then relay 4N=ask trump Q; 5C=ask K

	4N
	
	2 keycards without trump Q. Then 5C=ask K

	5C
	
	2 keycards with trump Q. Then 5H=ask K

	5D
	
	0, 2 or 4 keycards with one void suit

	5B/6C
	
	1, 3 or 5 keycards with void B/C


After reply # of A for minor 4C/4D RKC:

(1) Relay 1: ask trump Q

(2) Relay 2: ask K (positions)
(3) Relay 3 or higher: ask Q or XX of the suit to grand slam (7-level)
If relay 1 is not asking trump Q, then relay 1 is for asking K, and relay 2 or higher is for ask Q or XX
After replying A, trump Q, K

Bid 5B/6B=ask Q or XX of B to grand slam (7-level)

	1S
	2C
	

	2H
	2S
	

	4S
	4N
	RKC

	5D
	
	0 or 3 key cards

	5H/5S
	
	2 key cards without/with trump Q

	5C
	
	1 or 4 key cards

	
	5N(to all)
	Ask positions of Kings. Reply: one or other two
(1) If reply 6C, then have one king CK, or two other kings DK and HK. (2) If reply 6D, then have one DK, or two other CK and HK. (3) If reply 6H, then have one HK, or two other CK and DK

	
	5H/6C/6D
	Ask Q or XX of H/C/D to grand slam (7-level)

	
	5D(to 5C)
	Relay, ask trump Q

	5S
	
	No trump Q

	5H/6C/6D
	
	Trump Q with K in H/C/D

	5N
	
	Trump Q without other suit K

	
	6C/6D/6H
	Ask Q or XX of C/D/H to grand slam (7-level)


	1S
	4N
	RKC

	5D
	5H
	Relay, ask trump Q

	
	5S
	To play. If 5D=3 keys, same as ask trump Q.

	
	5N
	Ask K

	
	6C/6D/6H
	Ask Q or XX of C/D/H to grand slam (7-level)


Ask trump Q or other K when one void after asking A (by 4N)

	5N
	
	0, 2 or 4 keycards with one void suit

	
	6B
	Ask Q or XX of B to grand slam (7-level)

	
	6C
	Relay, ask trump Q

	Trump
	
	No trump Q

	Other suit
	
	Trump Q, with suit K (can bid higher than trump)


Gerber 4C ask A (14-03-2Min-2Max):
	1N
	4C
	Gerber, ask Aces. Then 5C ask K

	4D
	
	1 or 4 Aces

	4H
	
	0 or 3 Aces

	4S
	
	2 Aces and Min

	4N
	
	2 Aces and Max


Excluding RKC ask A: 

Reply：0-1-1-2-2 (3-4-4-5-5)

1st step: 0 or 3 keycards

2nd step: 1 or 4 keycards, no trump Q

3rd step: 1 or 4 keycards, with trump Q

4th step: 2 or 5 keycards, no trump Q

5th step: 2 or 5 keycards, with trump Q
(1) When trump agreement is made, jumping to 4-level (over the trump), 5-level or 6-level other suit is to ask # Aces, not including the Aces of that suit.
(a) Trump is C, jumping to 4D/4H/4S, 5D/5H/5S= Excluding RKC ask A
(b) Trump is D, jumping to 4H/4S/5C, 5H/5S/6C= Excluding RKC ask A
(c) Trump is H, jumping to 4S/5C/5D, 5S/6C/6D= Excluding RKC ask A
(c) Trump is S, jumping to 5C/5D/5H, 6C/6D/6H= Excluding RKC ask A
(2) If Opp overcalls, and trump agreement is made on 4-level or higher, biding 5-level or 6-level Opp’s suit (not jump) is Excluding RKC ask A
(3) If Opp overcalls, and trump agreement is made with known limited power (such as 1H  2S), then biding 5-level or 6-level Opp’s suit (not jump) is NOT Excluding RKC ask A

(4) Next relay on non-trump suit is to ASK trump Q (for reply 0 or 3).

(5) 5-level or 6-level of the same suit is to excluding ASK K.

	1C
	1H
	

	2H
	4S/5C
	Ask A, not including SA/CA, trump is H

	
	5D
	Ask A, not including DA, trump is H

	5N
	
	1 or 4 keycards, with trump Q, not including DA

	
	6C
	Relay 1, Ask K, not including DK


	1H
	2N
	

	Any
	3H
	

	5D
	
	Ask A, not including DA, trump is H


	1H
	2D
	

	3D
	4S
	Ask A, not including SA, trump is D


	1H
	4H
	

	6C
	
	Ask A, not including CA, trump is H


	1C
	P
	1S
	2C
	

	5C
	
	
	
	Ask A, not including CA, trump is S

	
	P
	5B
	
	# of Aces (0-1-1-2-2)

	5(B+1)
	
	
	
	(1) Ask trump Q for reply 0 or 3
(2) Ask K for other reply

	5(B+2)
	
	
	
	Relay 2, Ask K, for reply 0 or 3, not including CK


	1S
	4H
	4S
	P
	

	5S
	
	
	
	With Opp inference: Invite 6-level if has second control of Opp’s suit.

	5H
	
	5B/6E
	
	Ask A, not including HA, trump is S

	6H
	
	
	
	Ask K, not including HK


RKC 5N ask A: 1403:
Used for impossible bidding 4N to ask
	6C (1st step)
	1 or 4 keycards

	6D (2nd step)
	0 or 3 keycards

	6H (3rd step)
	2 keycards without trump Q 

	6S (4th step)
	2 keycards with trump Q


	1C
	1N
	

	2S
	4S
	

	5C
	5D
	

	5N
	
	RKC 5N ask A


	5D
	5N
	RKC 5N ask A


	1C
	4S
	5H
	P
	

	5N
	
	
	
	RKC 5N ask A


5N grand slam forcing asking: 
	1C
	1H
	

	2H
	5N
	After trump agreement is made, jumping to 5N is grand slam forcing

	6H
	
	(6-level trump) 0 or 1 of AKQ in trump

	7H
	
	(7-level trump) 2 of AKQ in trump


Slam invitation: 
	1C
	1H
	

	2H
	5H
	Without Opp inference: Invite 6-level if 2 of AKQ in H 

	P
	
	0 or 1 of AKQ in trump H

	6H
	
	Two of AKQ in trump H


	1C
	P
	1H
	1S
	

	2H
	P
	5H
	
	With Opp inference: Invite 6-level if has  second control of Opp’s suit.

	P
	
	
	
	No first or second control in S

	6H
	
	
	
	First or second control in S


Opponent’s Intervention on RKC (or excluding RKC)
	1S
	P  
	4N
	X
	DOPI (Double 0 Pass 1)

	P
	
	
	
	1 keycard (odd)

	XX
	
	
	
	0 keycard (even)

	5C
	
	
	
	4 keycards (same as no X)

	5D
	
	
	
	3 keycards (same as no X)

	Others 
	
	
	
	Same as no X


	1S
	P  
	4N
	5B
	DEPO (Double Even Pass Odd)

	P
	
	
	
	1, 3, or 5 keycards (odd)

	X
	
	
	
	0, 2, or 4 keycards (even)

	Others
	
	
	
	If 5B below the answer & at least 2 keycards, then bid it (same as no 5B).


	1S
	P  
	4N
	5C
	

	P
	
	
	
	1 keycard (odd)

	X
	
	
	
	0 or 4 keycards (even)

	5D
	
	
	
	3 keycards

	5H/5S
	
	
	
	2 keycards without trump Q/with trump Q


	1S
	P  
	4N
	5H
	

	P
	
	
	
	1 or 3 keycards (odd)

	X
	
	
	
	0, 2 or 4 keycards (even)

	5S
	
	
	
	2 keycards with trump Q


The Secret code of Splinter is 27
Splinter之目的：王牌配合後(標準型為5+4，其他型6+3或4+4) ，扣除單張(假設短門為單張)，檢查兩手牌是否仍有27HCP。若有27HCP，則可叫小滿貫。
	1H
	4C
	Splinter, 13-15, 4+H, short C (single)

	4H
	
	Less than 12 HCP after removing HCP of C (waste power). CA=3 HCP, not 4HCP; other honors of C=0 HCP.

	6H
	
	You can directly bid 6H if still have 14 HCP after removing HCP of C. 

	4D
	
	Cue, not show D control (may not have D control). Still have 12 HCP after removing HCP of C. Ask responder to bid slam if Max.

	
	4H
	To play. Cannot bid slam, only Min (13 HCP)

	
	4S
	Cue, not show S control (may not have S control). Middle (14 HCP). Ask opener to bid slam if Middle (13 HCP)

	6H
	
	Middle (13 HCP)

	5H
	
	Min (12 HCP)


	1D
	1H
	6+HCP, 4+H

	4C
	
	Splinter, 19-21, 4+H, short C (single)

	
	4D
	Still have 6 HCP (with 5 cards H) after removing HCP of C. (If 4 cards H, should still have 7 HCP)


	1N
	
	15-17, BAL

	
	2D
	TR, H suit

	2H
	4C
	Splinter, 10-12, 6+H, short C (single) 

	4D
	
	Still have 15 HCP (with 3 cards H) after removing HCP of C. (If 2 cards H, should still have 16 HCP) 
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